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ogs el thaz Z| 20,000 0 20,000
Ogs agel =32E BF 20,000 0 20,000
Ogd yalel 224 t+2 45,000 0 45,000
Ogs Fleel 232E =% 25,000 0 25,000
O¥s wEE2 Z2 24 15,000 0 15,000
OY4 a6l oY 022 XML 35,000 0 35,000
Ogs Ya7el 24 52 ZF 20,000 0 20,000
Ogs sde O3 24 20,000 0 20,000
Og4 HE2el 42 Z| 25,000 0 25,000

SOEXS K 30,674,912 31,061,912 387,000
= 3,219,000 3, 136,000 83,000

2 3,553,000 3,553,000 0

s 521,000 521,000 0

= 4,672,600 4,672,600 0

m} 320,000 320,000 0

2 18,389,312 18,859,312 £470,000
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= 3,219,000 3,136,000 83,000
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HH 4 JH & AL S 3,083,000 3,000,000 83,000
=2 3,083,000 3,000,000 83,000
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O 2ol FUNS 52 L W42 Il 0 30,000 £30,000
Ogat org4el B 42 Jl 0 20,000 £20,000
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OEs &332l W42 Z| 0 10,000 £10,000
OOt =2Weel 4F0lS VY2 FH| 0 35,000 35,000
OWOH 52l UE 42 Il 0 40,000 £40,000
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Ows stdel SHES W42 Zl 0 40,000 £40,000
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O#a mesel oz Z) 0 10,000 ~10,000
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